Multiply:
. 9234 kg by 8 2. 12,568 kg by 8
Livide:
4. 48.080 kg by 8 16,735 kg by 5

7. The weight of salt in a packet is 876 g. What will be the welght
25 packets?

The welght of a box of cherries is 1354 kg, Arti bought 15 such boxes ¢ of ¢
How much cherries did she i‘my? E

The cost of mangoes per kilogram Is € 20. Asif bought 579 g mangoes, What
he pay for the mangoes?
10. 0.848 kg toffees were shared equally by 8 bﬂys Find the share of eaﬁh
. 12.468 kg bananas were divi vided equall

share of each person?
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2.5 kg 680 g potato chips were put equally In 16 packets, Find the weight of one
13. | If the weight of § boxes of sweets is 6.250 kg, how m uch will 2 boxes welgh?




